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oo Year 2 Worksheet 2: Addition and Subtraction

Level: Beginner

THE POWER OF
KNOWING

12+4=7

.9-5=7

.Add 7 and 6.

. What is 1 more than 187

.What is 1 less than 20?

. Use number bonds to make 10.

.5+5+5="7?

Subtract 8 from 15.

. Draw a number line to add 6 + 3.

10. Complete the sentence: 14 =10+

[Use the space below to work out your answers. Show all your working.]



oo Year 2 Worksheet 2: Addition and Subtraction

Level: Intermediate

THE POWER OF
KNOWING

1.24+15=7

2.33-18="7

3. What is the difference between 50 and 35?
4. Add 27 and 13 using a number line.

5. Subtract 22 from 40.

6. Fillin: 60 =30+ ___

7. What number makes 20 =14 +

8. Use a bar model to solve 28 - 9.
9.10+20+30="7

10.25+ =100

[Use the space below to work out your answers. Show all your working.]



oo Year 2 Worksheet 2: Addition and Subtraction

Level: Difficult

THE POWER OF
KNOWING

1.47+28="7

2.90-46="7

3. Add: 25 + 37 + 18

4. Subtract: 100 - 55

5. What number is 33 more than 52?

6. What's the missing number? 70 - _ =45
7.Solve: 38 +? =75

8. Find the total: 14 + 22 + 44

9. Use place value to solve 67 - 24

10. How many more to reach 100 from 47?

[Use the space below to work out your answers. Show all your working.]



Tumon Year 2 Worksheet 2: Addition and Subtraction
Level: Super Challenging

KNOWING

1. Solve: 65 + 39 - 28

2. What number is 50 less than 1207?

3.99-28="7

4. A number increases by 30 then decreases by 12. Start at 47.

5. Write two addition facts for 18 = 10 + 8

6. What three numbers total 100?

7. Find the missing: __ + 27 =95

8. Add 3 two-digit numbers: 16 + 29 + 37

9. 2 children have 47 marbles in total. One has 19. How many does the other have?

10. Use inverse to check: 86 - 29 = 57

[Use the space below to work out your answers. Show all your working.]



